L.. & 2
£ | O = X -
g | O 30 o )
< or Z
T =3
= =T — Rr
E © e
“ 3 2 o o = °
3 R X n - o
w N 1o = | » o0
— 10 c
,.m ¥ ol mw o EH g Z
s 1o
3 50 o F = Lot o = 2
[ 30 < = s I ! R < = 3
© < 8l = .HA.H = M_H_ o o
c 1 10 jol ) T
© LHo = —_ — = =
£ k| oo m ™ok S o | 3
S uo <+ by el xr T "™ o S | &
o e == <
R ua ol [0 =) Jo v
=] Z o 6 3 =
o oK m <F Lo g =
m Ki 4 £ U m._“ | R = Bl oK
- Lo ioRs W XE 5
< ) ~ mo oK g W w- =
- — Br = o __ HI RO 7 7
o0 — N Ro Jor m © W = T T3 ©
< N s W > S o & 5 KU W  ®
W o 5 i Rl 2 zo oy o Q oF | <F
<t e X o - < 1 = = o ™M
S £ 7l S 3 ¢ o ° K
o W E oF 3 ro X
OF | W L b p U T R’z
H T AW~ e R 2 W F x K W™ o
K1 © N or Ul um H N o & 5 <0 zr ol 50 mo HI ™
< i — N Mg SAE <1 50 T
g, 25 £ X N N _ 0
= = _ ol Zr = © oF O W K ¥ o o o ar
L= 3 W T 5 W~ = oF ' OF Uy A= o
ol 55 = © 7 g OF B = °owm O
xd o > " ._on or M zr IF I+ UW_A%% < <
B RIHD Togad= MW%.& ~ oo N wﬁ__
= B0 K o o O _._._o .._._.”_.o .._.D.o A_ _._._._ oyl - ﬂ_____ = —_
oK O a0 Jo T o WS ok % % oM < S 2 =
0 = N
a r = N &r H
ke — I — =r no =.__| 1 m = ke b r
B0 - =0 <+ M.n*q_ i <0 = m_@u_ﬁu
ojr B0 o | BO T R nHT Kk g ™R Br mo
oy Okl O jor

M S f=x[si A 7 ofsH



ol

71E}

30

70

4n

.A._u
jol

1] d}

I
E|

7|E}

EE

|

HHEIH(%)

30

10

71Et
QFLH AL

=1

H| 22

olo

31
<+

=
L

22|AE|0|M 3 CFD 0|2 2 sHiM (1)

1

CFD O]

2

CFD O]

CFD O]

4

Fluent 7| X

5

Fluent workflow - Physics

6

Fluent workflow - solution & of| |

7

Sl A 3ol

oF

Airfoil of|®| 2!

10

11

12



il
TN
x M
T oK
ol mﬁro
k|
o™ <
— —




